REIRE 108 BEE (B)BEBEABZHAE
£WA B TR AR ENTRL A % 1/1 B

HIARFR AT USFBCHERRER FOIUERFE; RUTMMERTESR -
(15%) (@) (5 %) B3& min heap — BB R A —EEFRFE 3MNE » BEBEF 20 1 EKFmA
heap > SF4& i 45 R 89 min heap ; (b) (5 %) H#F AT 440 50 34 1 & 269 min heap ; ()
(5 2) mBEMPBEF 1> 34 h 4 269 min heap «
(15%) (8) 5 %) B3 AVL tree —BA4 R A — AR AR F 300 BERHHF 20 1 K5 A
tree 7 0 FHEHERE AVL tree; (b) 5 ») BH#E AT 45 5> HHELE R AVL tree ;
©) %) mBMrEF 1 FHEHLE R AVL tree -
(15 %) (2) (5 points) {63% 2-3 tree — B4 R A — BT 3 98B > BEHRT 29 LKA
tree ¥ o SFMEHE R 2-3 tree ;s (b) (5 4) BB AT 450 5 FHBERE 2-3 tree s (0) (5
%) RERREF 1 FEE &R 23 tree o
(15 %) # B A& 7] 69, 86, 36, 40,17, 48 » X - M A\ J& F &4 hash table ¥ > {# F #4 hash function
% h(k)=k mod10 > 4R35 R ] &) collision #Z F &, » 4 ¥ 4 £ 84 hash table o

0 1 2 3 4 5 6 7 8 9

| L T T [ T [T T T ]

(b) (5 %) Quadratic probing;

(a) (5 %) Linear probing; (c) (5 %) Double hashing using a

secondary hash function #’(k)=8 - (kmod 8) -

(15 %) 3F A C/CH+ 35 & X rotateLeft(int A[], int r) 4 H 3T LA 48 Ko B n 8 array 45 £ # 8 — 184
ﬁ"{;dﬁu’{ 1, 2, 3! 4, 5} jii%;%?&@%ﬁi{ 2, 3y 4, 5, 1 ¥

(I57) B A X —Best n B FeE] > BR K size((int A[]) € @EREF] A 8 A 0 3F %
C/CH 8 H — ki@ (recursive) & X, maximum(int A[), int index) 4 £ 7T B E14% M 742 6 B AE - o
W38 F X, — B 46 695 & maximum(A, 1) -

(102) FEHHFAT E(B)Fog(1, 17, 7) BB ¢ E1He44E?

int £(int n)
{
switch (n)
{ case 0: case 1: case 2:
return n + 1;
default:
return £(n-1) * £(n-3);

int g(int a, int b, int n)
{
inte= (a+b) / 2;

if (e * ¢ <= n )
return c;
else

return g(a, c-1, n);
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